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N T AETCLE R 5 R 3 iE 15 R GRS T 6 T 7545 18 AL 1% L 4R e T E A9 AT AR Ll e
P22 A T B TR TR B 2 S HR

3.5.1 ¥ 55A3 70k it £

1. ¥ SRAD F0 3 4 7D B 4K &

PR S 2R GE YA FH A b AT 2 SR AR S Mk A

H A 47 ARG R i hE RS A

(1) PhBEHL (PN

(2) ?j’(%er(Walsh)ﬁ%,

(3) IF 3¢ J A8 S F 4™ 5 1 25 1

2. fABEHLED

PRBEATLAS o SCFR by Bl e 7 5, 2 — o ELAT (s P T 5 . P BE ALY -

(D m(FFID 5

m JP G, S —FP O BERLT B S B n GO B A 2% T RE 7 2R 1 SR IR K ) B SRR I
KREEFH . m P AHC R EC & 3-16 R,

)

Kl 3-16  m 31 Y H A 5 R 8
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m 5 (4 D 4% 5 B AN AT 3-17 I .

G()
m J7 1 (1) 5 A OC R AR A2 AR Y SU(E pR
. T m JFF 0 EORH O BR B, 2 8 K R A (R
M1 )3 50 45 #6) AN T) B9 5 A~ mo )3 31 22 [a] 1 AH ¢
m J37 5 A] LU A i 2 3 5 A p an R
MATLAB ¥ : /,w,/( P
3 2 _1r o L 2 31Ff
Clear; T, T, T, T, T, T,
cles P 317 m B A R g
G=63; YRS
Sd1=[00001]; SRR AT R GRINAN
PN1=[]; 35— P 5
for j=1:G

PN1=[PN1 sd1(5)];
if sdl(l)==sdl(4)
templ=0;

else templ=1;

end
sdl (1)=sd1(2)
sdl (2)=sdl (3)
sdl (3)=sdl (4)
sdl (4)=sdl (5)
sdl (5)=templ
end

subplot (3,1,1);

stem (PN1) ;

title (' (45)8=(100101)2 =K m FEHI ") ;

(2) Gold 1%

Gold ¥4 J& —KNBEHLIT S & B A R 40 B AHSC A T AR SCREPE . AT LUFH AR bk 65 9
B i KT m P800 H o T 5280, 250 {7 21 78 TAR AR 20 )iz i .

Gold W1y A= J : 25 28 #8 A A7 A7 i JUEL n W, S0 AT DUAR M — X R OC bR B0 /N 1 B )7
G s % TR AL AH I 04 5 4 85 A 4 o JHG ERE OC 55 R ERAR /I o i EL AR G pR ORI B AR DG bR B
A B XA A PR R Gold i 5% Gold 741,

RECH T KN 127 A Gold J¥ 5, AT LA ml J¥ 51 F1 m2 J§ 58— 4H Jin ™= 4= .
MATLAB /7 41°F -

function c=gold () ;

n=7; eml JFAI LW (211) 8= (010001001) 2
a=[11111111]; sml P 3145 B L 2 A7 4 B9 W (E
co=1[];

for v=1:2"n-1

co=[co,a(l)];
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(8)
a(l)y=a(2);
a(2)=a(3);
a(3)=a(4);
a(4)=a(5);
a(5)=a(6);
a(6)=al(7);
a(7)=a(8);

end
ml=co;

sm2 I Z R (217) 8= (010001111) 2
s AR LA N (211) 8. (217) 8 BIHEA m [T g — L e XF , AANAS 8 Gold JF 51
b=[10100001]; sm2 J7 5 & A FF A7 4 1 WM
co=[];
for v=1:2"n-1
co=[co,b(1)];
m=mod (b (5)+b (1),2);
p=mod (b (6)+m, 2) ;
b(8)=mod (b (7)+p,2);

(
b(1)=b(2);
b(2)=b(3);
b(3)=b(4);
b(4)=b(5);
b (5)=b(6);
b(6)=b(7);
b(7)=b(8);

end
m2=co

(3) Walsh %

WAL, 7 51 ) 11 AR DG R AR (B AR /I S 5 02 1E 38 P 81 1 H AR G R B0R 0, I8 4, X 2R 7 41
FR RS KW BENLE D] . Walsh 55245 — KW BEHLTE 51,

Walsh bR FICRAT BR DX JE] - (1 — 4109 — b 15 38 sRECAE  FT bl WA 38 B3 60 e 7= A

My IRIDAE R H &+ 1 A —1 AT R A A IEsS O [ . BT IE 28 7 B R AT B Wi AT
(ol 9 1) #B J2 AH B IE 22 Y

11
H, = J (3-3D)
L1 0
11 1 1
rH. H, 1 01 0
H, = J: (3-35
LH, —H, 1 1 0 0
1 0 1 1
rH, H,
H; = J (3-36)
—H1 _H,1
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(4) OVSF 14

OVSF %2 Walsh R —Fh AR BRI 5 Walsh AR

W —Br OVSF #5881 G 55 0, 78 X R i A7 5 510 43 50 s & 0 % 1 2R i 1. w2k
BT —Br OVSF §%,

DL A 5k mT DL AE BT By L\ B 45 OVSF 14,

MATLAB BFF .

close all;

clear all;

global ovsf;

sprifac=input('ffﬁﬁ/\*}hﬁfﬂlﬂ?: "y

code n=input ("M AT ") ;

if code n>0 && code n<=spr fac
ovsf=ovsf gen(spr_fac,code n);

end

function ovsf=ovsf gen(spr_ fac,code n)
ovsf=1;
global ovsf
ovsf=1;
if spr fac==1
return;
end
for i=1:1:10g2(spr_fac)
temp=ovsf;
for j=1:1:size(ovsf, 1)
if j==1
ovsf= [temp (j,:),temp(J,:);temp(j,:), (-1) * temp (J, :)]1;
else
ovsf=J[ovsf;temp(j,:),temp(j,:);temp(j,:), (-1) * temp(F,:)]1;
end
end
end
if code n>0
ovsf=ovsf(code n,:);

end

3. 3G R ERMEE

16 3G RGP 9 A A hE A 32 FE AT AR A3 R an R 3 2K
(D H 7 Hhk 65

(2) 15 E I

(3) /NX HhERS

3.5.2 {SEERDE

15 T8 i 0% 2 i oo s A% i mT SRR L Db 25 B IO A AROT I
e 8] o



1. FERBHEX

15 T8 G 1% o 38 5 0 ARG 07  RIVHS 0 0 A% 92 BE 0 B RS B RE ) . LGB SR AR . 2 i
IS5 D ) TUAR 0 L T 3R A5 J 4 1) 2 55 e
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2. FERBHSE

5 A 2 A5 AT AN TR B 207 X

(1) AR Ly REAN[R] 22 5845 A% 1] DLyl P 25

O K5

© a5,

A LRGN 15 A% i 2 7 1 B % L A B AT 2 B B RE ) IR PR U AR AL IR 1 T A
R

2 G5 AT I R] DL 2] I TR AT R

(2) AR BT 5 A B 2 1 R[] 2 A A AT Loy R

O WG

@ B,

Sy RS SRR BT IR 53 Ry ke A7 R — L R 5 R 45 A5 8 A o B R AT A A S T O B 1)
N LER

A P A2 0 e A5 BT 90 R 4 g 4 E Y TS 2 Y e R NN S M AR B AL A G T
L5 0 1T T 2 1) G PR A A O 35 R gl AR P A AL 10 R G P 2R AT 1R

(3) MRS IC 5 IR E B Z H AR M ES AT LR

O Mg

@ JeLetEag.

MRS 9 BT A B TR 2 SRR (R BT R A .

LM T RGBT L A S .

(4) R0 1 22 85 i 2 A0 L A B A AT LA 0

O A BEHLEE R ;

@ YR KRG,

LY BE DL AS DR AT T2 IS A BEAILAS 5215 3, 2 0 b n] RE A 0 BE AL 1R

YR AEVRAS T A E (G B A S R i o R AR

3. BEYREY

T T A LA BT B B A 2R LR R R

(61 3-13Y I 3 o7 — ki A s 4L AL ffs 8, anfay m] L& 4 9

i .

(1) 3 o — I ECF A AL 8 B G, Al 4% 8 M F B - 000 FRIRIE 001 KR =010 IR
FA.011 R/RM 100 /R 101 FnFE. 110 £IR 5 111 FoR 8. X B A 200 e o (0 7] 5
PERAR, TCE R B IR .

(2) 25 H AL 4 FifE H . 000 FRiE 011 FRz 101 FoRBA 110 FRoRTR X F . BRI T A
ROVE AR R T AT EE R AT LA R B — S A A R 1, 000 CRED g — 7, W AE R 100,010,
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